
Clocks Subtraction 1 

•Subtraction 1 digit numbers from whole tens. 
•Colour the clocks. 

80 – 9= 60 – 7= 10 – 7= 50 – 6= 

40 – 2= 30 – 3= 50 – 2= 80 – 6= 



Clocks Subtraction 2 

•Subtraction 1 digit numbers from whole tens. 
•Colour the clocks. 

40 – 9= 70 – 1= 60 – 5= 40 – 4= 

70 – 9= 50 – 8= 90 – 3= 40 – 8= 



Clocks Subtraction 3 

•Subtraction 1 digit numbers from whole tens. 
•Colour the clocks. 

90 – 9= 10 – 4= 30 – 4= 60 – 8= 

70 – 5= 50 – 4= 60 – 2= 20 – 6= 



Clocks Subtraction 4 

•Subtraction 1 digit numbers from whole tens. 
•Colour the clocks. 

80 – 1= 30 – 6= 80 – 5= 20 – 8= 

80 – 8= 40 – 6= 90 – 2= 20 – 5= 


